450

100

N

20.8

[

218 H8

31.5

= 4[]]I}

67

210

EHEAR AR I (50HZ/60HZ kgfcm )

260 h8

95

FRZER
SR SR

50 8.7 38.3 | 56.1 74,0 | 1057 | 1340 | 161.0 | 180.1 | 222.7 | 265.4 | 297.5 | 355.0 | 408.9

GH-040N-K 120W-RUFE B5E
60 7.1 312 | 458 | 604 | 863 | 109.3 | 131.4 | 147.0 | 181.8 | 216.6 | 242.8 | 289.7 | 333.7
50 10.8 | 475 | 69.7 | 91.8 | 131.2 | 166.3 | 199.8 | 223.6 | 276.5 | 329.4 | 369.4 | 440.6 | 507.6

GH-040NO-K 150W-RUFE 32
60 8.7 409 | 60.0 | 79.1 | 113.0 | 143.2 | 172.1 | 192.5 | 238.1 | 283.7 | 318.1 | 379.4 | 437.1

087 teaiose




GH-050NL]-K

324.5
184.5 80 60 104
— ' | o )
9 ©
O
8 3 — — g8
5 -
3 © o p:y ~
©

H
40
60

70
85
92

90

110

270 H8

210

thZeRy {EHEEAR A # I #8%E (50HZ/60HZ kgfcm )

SRR R RaBiE

50 16.3 709 | 106.1 | 136.9 | 195.6 | 251.0 | 301.5 | 3423 | 423.8 | 497.1 | 557.4 | 665.0 | 798.7
GH-050NO-K 200W-RUFERRE
60 12.2 53.0 78,6 | 1024 | 146.4 | 187.8 | 225.7 | 256.2 | 317.2 | 3721 | 417.2 | 497.7 | 597.8

PeeiMoger 088






Q

GL-49N36-1

0:Q » 42mm
2 12 » 60mm
4 4 » 80mm
5.5 » 90mm

aDdNON -~

: 100mm
- 200mm
: 300mm
© 400mm
- 500mm

10

12.5

15

18

20

25

30

36

50

60

90| 180

-
<S>

PeeiMocer

PEI-El  Precision
Machinery Co., Ltd.
Made in Taiwan

vestioger 0F0



GL- ONLI-[1

54

15.5

213

220V 50Hz

220V 60Hz

BAAMER (ko)

GL- 2N[1-[1]

76

20

224

: 220V 50Hz
BEEE
(mm/s) 220V 60Hz

RAAMER (kg)

30
42+1542
5 17.6
25 42
! 16 1. 6.7
/ ‘
- - s
= (= o & 2
) g @ Ao
§> | g = 2
S S
B ¥
\6 L
PR
<
~
2-M4x0.73815
2-R2.25 76
E& 0.8kg
) 9 12.5 15 18 25 30 36 50 60 90
1045 70 50 42 35 25 21 175 125 105 7
131 87 63 525 | 435 | 315 26 22 155 13 9
0.7 1 15 1.8 1.8 3.2 5.6 5.6 7.6 7.6 9
40
60+17#2
6 24
25 60 ‘
B | s | 5
\ I
no 10 @
= —— 3 | Gy o
1 @» - 214 Ay N
o L S -
N r < ©
12 ~ 0
©
2-M5x0.8:%15
X0 8% 95
2-R3.25
EE kg
6 9 10 125 15 18 20 25 30 36 50 60 90 180
84 56 50 40 335 28 25 20 16,5 14 10 8.7 55 3
105 70 63 50 42 35 315 25 21 175 125 105 7 35
3.5 5.4 7.4 8.9 108 108 145 | 175 21 21 347 | 347 50 54




GL- 4N[1-[1

96

27

232

220V 50Hz

220V 60Hz

RARMER (ko)

GL- S5NLI-[1]

115

27.5

220V 50Hz

220V 60Hz

54
8041712
8 30
25 80
5 12
\ [
o / ~
= (= °
3 |
B &> s .
8 ; g g
7| s =
N . o
L o ®
2-M10x1.531
2Ra25 | | 125
B8 1.7kg
6 9 10 12.5 15 18 20 25 30 36 50 60 90 180
222 148 133 107 89 74 67 535 | 445 37 265 22 15 75
278 185 167 133 m 935 | 835 | 665 | 555 46 335 28 18.5 9
5.6 8.4 108 | 134 | 167 | 169 | 217 | 267 | 325 | 325 54 54 668 | 6658
55
90+17#2
10 29
25 90
5 1, 13
\ [
no / 10 @ @
= == s | N
Bl &> /e e CO
: : == s
21 | = =
Py L
5 =| ¥ &
s [sg]
< E
£
2-M12x1. 75815 .
2R55 — w1
B8 2.7kg
6 9 10 12,5 15 18 20 25 30 36 50 60 %) 180
2515 | 1675 | 151 | 1205 | 1005 | 84 755 | 605 50 42 30 25 165 | 85
314 | 2095 | 1885 | 151 | 1255 | 1045 | 94 75.5 63 525 | 375 | 315 21 105
821 | 119 | 171 | 209 | 246 | 246 | 336 | 403 | 485 | 485 | 746 | 746 | 746 | 746

RAAMER (kg)




Q

GL- 5Ul]-0O

55
122 90+17#2
10 29
275 25 9
‘ 13
\ I
o f \ —
7N = \_ o
) |
NS H——— I\ & /= - 025
3 s o g
21, s
235 ‘ ‘ -
©
Q
2-M5x0.8%15
2-R5.5
EE :3kg
6 9 10 12.5 15 18 20 25 30 36 50 60 90 180
PPV 2515 | 1675 | 151 | 1205 | 1005 | 84 755 | 60.5 50 42 30 25 165 8.5
220V 60Hz 314 | 2095 | 1885 | 151 | 1255 | 1045 | 94 755 63 525 | 375 | 315 21 105
BATMER (ko) 119 | 179 | 239 | 298 | 358 | 358 | 575 | 575 | 9.4 | 69.4 | 1157 | 1157 | 1157 | 1157

093 reciose




PeeiMoger 094



	Text38: 
	Text39: 
	Text40: 
	Text41: 
	Text42: 
	Text43: 
	Text44: 
	Text45: 
	Text46: 
	Text47: 
	Text48: 
	Text49: 
	Text50: 
	Text51: 
	Text52: 
	Text54: 
	Text55: 
	Text56: 
	Text57: 
	Text58: 
	Text59: 
	Text60: 
	Text61: 
	Text62: 
	Text63: 
	Text64: 
	Text65: 
	Text66: 
	Text67: 
	Text68: 
	Text69: 
	Text70: 
	Text71: 
	Text72: 
	Text73: 
	Text74: 
	Text75: 


